
Calculator Implementation with Visitor

Let’s implement the calculator using the Visitor Pattern
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Calculator Implementation with Visitor

Subclass LabeledExprBaseVisitor<T> with T as Integer

Redefine the behaviour of the visit methods

Create a class with a main that creates a visitor object and visits a

parse tree

See Code...
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Translator from Java classes to Java interfaces

Let’s implement a translator that can parse Java files!

We are given a Java grammar specification Java.g4
The translator has to transform the code of a Java class into a

code for a Java interface containing the same methods without

implementation

Any comment appearing within the method signature must be

retained
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Translator from Java classes to Java interfaces

must produce (see code):
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Implementing an SDT in ANTLR4

Let’s implement a translator that parses a csv text file with tab as

separator

We want to select the data values of a particular column

Base grammar:
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Implementing an SDT in ANTLR4

Enriched grammar with code
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Implementing an SDT in ANTLR4

Running the parser (see code)
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Adaptive Parsing in ANTLR4

With ANTLR4 it is possible to modify the behaviour of the parser

at runtime, depending on the parsed input

Technically this is realised through semantic predicates, which are

boolean expressions enclosed in curly braces followed by a

question mark, e.g. {$i <= n}?

Suppose we want to parse a sequence of integers such that some

of them tells how to group them: 2 9 10 3 1 2 3

the first 2 means that we want to group the following two numbers

then the following 3 means that we want to group the following

three numbers
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Adaptive Parsing in ANTLR4

We want that the parsing of 2 9 10 3 1 2 3 produces the

following parse tree
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Adaptive Parsing in ANTLR4

The grammar to produce this result is the following

Visual representation of the effect of the semantic predicate

See produced code in the parser class
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